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4)

5)
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7a —4b + 3b — 4a

4x? + 3xy — x? — 8xy

2a + 3b + (4a — 5b)

4x — 2y + (3x — 8y)

7x — (5x — 3y)

(8a—2b) — (3a — 6b)

(1)

(2)

(3)

4)

(5)

6)
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2(3a — 4b)

-30Bx—-y)

(8a—4b—12) X (- 2)

(9a—27b) +3

(6x — 18y + 42z) + (—6)

3
(3a%? — 6ab + 9b2)+;
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3x X 4y

(—4a) x (—2b)

-2
m X 4n

(-22) x (~2)

—24xy + 6y

15ab + (—%b)
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1) | 2x+y=2
x—y=4

(2) |x—2y=2
4x +2y =18

8 |x=3y+6
2x=y+7

(4) 3x=y-3
3x+4y =12
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(1) | x+4y=13
4x + 6y=12

(2) 4x —y =18
3x+4y =4

(3) 2x—y=1
x—3y =13

4) [x+4y=7
2x+y=7
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—x—7y+§x+2y

4

(8ab — 3b) + (—3ab — 5b)

(7x+y) — (4x + %y)

8x+3y—(5x—-2y—-7)

4a+7b — {5a — (a — 4b)}

(7m —3n) + (4m + 5n) — (6m — 4n)



(1)

2)

3)

4)

5)
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x+7y+3(x—2y)

3(x+y)—6(x—y)

283x—y)—-53Bx+y)

4(x + 2y) =3By —x)

4 —3p—9=2b

4m-3n 2m+n
6 4

(1)

(2)

(3)

4)

(5)

6)
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(—4x)3
2a X (—=5a)?

12a3 + (—3a?)

(- Exzyz X (— Zy)z
8 5

3a% x (—4b) = 6ab

18x%y? + 3xy + (—6Yy)
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(1) 2x+3y=2
3x+4y =1

(2) —3x + 5y =21
2x+3y =5

(8 | 9x+4y=3x+8y+10
4x+5y=7x+4y—7

100 womEsr R fmE 2 s,

(1) | 3x+4y=6
8x+4(y —1) = -8

(2) 0.3x + 0.5y = 3.1
y=2x+1
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(1) (2.8x —1.6) + (2.2x + 0.6) 4) 3(x+2y)-5R2x+y—2)
3 3 1 5 (5) 4a3b x (—3ab)?
2 a—4b—(—6a— b)
xX—4 x—3 > 2. 5.1
3 Yy y+x (6) (—gab).(—zb) X10a

4 3
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—6a(a—2b—1)

(6a? — 28a) + (—2a)

(4x?%y — 3xy?) =+ %xy

3x X 5xy + 6xy(1 — 2x)

x(4x + 3) + 7x(5 — 2x)

4a(a — 4b) — 3b(4a + 2b)

13 womEsr Rz Eu,

(1) 0.2x — 0.7y =2
x—4y =11

(2) 0.7x + 0.6y =3
1 1

—x——y =2
6" 27

(3) L 2 8
1.2 _
2 T 5Y
5 .1,
—x+Zy=
6 57
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(1) |x-3y=2x+4y+17
Xx—15=05(y +8)

(8) 4x+3y=x—-2y—1=6
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